RESEARCH

Open Access



Risks of non-ovarian cancers in women with borderline ovarian tumor: a national cohort study in Sweden

Arturas Dobilas^{1,2*}, Filip Jansåker^{3,4}, Xinjun Li³, Kristina Sundguist^{3,5,6,7} and Christer Borgfeldt^{1,2}

Abstract

Background Associations between different cancer types are known. The affirmation of the risk for non-ovarian cancer after ovarian borderline tumors (BOT) is, however, sparse.

Aim To analyze the risk of subsequent or simultaneous cancers in women with BOTs compared with the general female Swedish population.

Methods An open cohort study (1995–2018) was conducted where a diagnosis of BOTs as well as subsequent or simultaneous cancer diagnoses were obtained from the Swedish Cancer Register and matched to the Total Population Register. Each woman with BOT was followed until non-ovarian cancer, death or emigration and could only be included once for the outcome. Standardized incidence ratios (SIRs) with 95% confidence intervals (CIs) for specific non-ovarian cancers were analyzed.

Results The 4998 women with serous and mucinous BOTs were diagnosed during 1995–2018 with a mean age of 55.7 years (SD 16.0) at diagnosis. Compared with the general female population, women with BOTs had increased risks for non-ovarian cancer in colon (SIR=2.5; 95% CI 2.0-3.1), rectum (SIR=1.7; 95% CI 1.1-2.5), small intestine (SIR=5.0; 95% CI 2.3-9.5), cervix (SIR=2.5; 95% CI 1.4-4.2), endometrium (SIR=2.4; 95% CI 1.9-3.1), pancreas (SIR=2.3; 95% CI 1.4–3.5), upper aerodigestive tract (SIR=2.2; 95% CI 1.2–3.8), lung (SIR=1.8; 95% CI 1.4–2.3), kidney (SIR=2.3; 95% CI 1.4–3.7) and bladder (SIR = 1.8; 95% CI 1.1–2.8). Among women with serous BOTs, the risk of thyroid gland cancer (SIR = 3.1; 95% CI 1.2–6.4) was also increased. Lung and pancreas cancer showed increased risks more than 1 year after a diagnosis of BOT.

Conclusions This Swedish population-based study demonstrated an increased risk of multiple malignancies including lung and pancreatic cancers beyond the first year of diagnosis in patients with borderline ovarian tumors (BOTs), suggesting a potential shared etiology.

Keywords Borderline ovarian tumors, Cancer risk, Cohort study, Nationwide, Standardized incidence ratios

*Correspondence: Arturas Dobilas arturas.dobilas@med.lu.se Full list of author information is available at the end of the article



© The Author(s) 2023. Open Access This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons licence, and indicate if changes were made. The images or other third party material in this article are included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit http://creativecommons.org/licenses/by/4.0/. The Creative Commons Public Domain Dedication waiver (http://creativecommons.org/publicdomain/zero/1.0/) applies to the data made available in this article, unless otherwise stated in a credit line to the data.

Novelty and impact

The knowledge of non-ovarian cancer after ovarian borderline tumors (BOT) is sparse. This nationwide population-based study found BOTs associations with lung and pancreas cancer more than 1 year after a diagnosis of BOTs. These findings may be used for cancer prevention and surveillance in women diagnosed with BOTs.

Introduction

Borderline ovarian tumors (BOTs) are a subgroup of the ovarian epithelial tumors, which also are known as atypical proliferating tumors. BOTs have genetically similar changes to their malignant counterparts and are suspected to be precursor lesions to low-grade serous, endometrioid, clear cell, and mucinous ovarian cancer [1]. Most BOTs are serous or mucinous tumors [2] that usually proliferate and show mild-moderate nuclear atypia and mitoses. These changes must be seen in more than 10% of the tumor epithelium and it is acceptable with a stromal micro-invasion of up to 5 mm at the greatest linear measurement in any single focus for a BOT diagnosis [3]. They may spread implants to the peritoneal surfaces and lymph nodes but, in contrast to invasive cancer, do not grow invasively [4, 5]. BOTs are generally diagnosed in an early stage (stage I), confined to one ovary, and have a favorable prognosis [6].

Earlier studies have disclosed higher risks of second primary cancers after ovarian cancer, such as breast cancer, colorectal cancer, bladder cancer, and leukemia [7–9]. Several cancers share common etiology, hereditary factors, and some may be due to chemotherapy-induced secondary malignancies. Some studies have examined risks of non-ovarian cancer following BOTs and found increased risk of colorectal cancer, but decreased the risk for breast cancer compared to patients with a history of ovarian cancer [10-13]. Recently, a large Danish population-based study discovered that serous BOTs were linked with malignant melanoma, thyroid gland cancer, and myeloid leukemia. In contrast, mucinous BOTs were associated with lung cancer, pancreatic cancer, and myeloid leukemia and the results did not differ with the duration of the follow-up period [14]. Women with BOT also seem to have long-term histo-pathological specific increased risks of epithelial ovarian cancer [15].

The main aim of the study was to compare women in Sweden with serous or mucinous BOTs with the general female Swedish population regarding the risk of nonovarian cancers using the calculated Standardized Incidence Ratio (SIR). We also aimed to examine the risk patterns in relation to age at diagnosis and length of follow-up, adjusted for socioeconomic status and geographical region of residence [16, 17].

Materials and methods Data sources

The Swedish Cancer Register (managed by the National Board of Health and Welfare, in Swedish: *Socialsty-relsen*) was used to collect data on BOTs and outcomes [18]. The Total Population Register (managed by the Swedish governmental agency, *Statistics Sweden*) was used to collect the population of women residing in Sweden during the time period, with data on some of the covariates as well as emigration and death. The register is nearly 100% complete for the entire national population [19]. All linkages between the registry data were performed using the unique 10-digit personal identification number [20] assigned to each person for their lifetime upon birth or immigration but our group had access only to a pseudonymized version of this number to ensure the integrity of all individuals.

Study design, population, and setting

This was a Swedish nationwide open cohort study conducted between 1995–2018. The total population consisted of 6 838 524 women residing in Sweden with a total follow-up of 116 406 014 person-years (calculated for the total population). Baseline was defined at the first diagnosis of BOTs from 1995 and onwards and the total follow-up time started at baseline and ran until a diagnosis of cancer, death, emigration or end of the follow-up in 2018.

Ascertainment of the main predictor variable

Serous or mucinous ovarian borderline tumors (BOTs) were obtained from the Swedish Cancer Register [21] starting in 1995 by which time the register had reached full national coverage. Women with a diagnosis of BOT were identified and included during the period 1995–2018 using ICD-7 (topography code 175 with a benign indicator) codes and SNOMED10 (morphology) codes: serous BOTs (84423 and 84513), and mucinous BOTs (84723) [22]. Excluded codes were code 84623 (endometrial and clear cell borderline tumors, n=384) and codes 83801, 83802, and 83811 (n=35) since these tumors were so few for statistical evaluation. Two cases with missing information were excluded.

Ascertainment of the outcome variables

The outcomes were non-ovarian cancers and were identified in the highly complete nationwide Swedish Cancer Register [18, 21]. This register used the 7th revision of the International Classification of Diseases (ICD-7) (Table S1). Each woman could only be included once for each outcome during the study period.

Covariates

Age, period (year since BOT diagnosis), highest educational level (as a proxy for socioeconomic status) and geographical region. The rationale for including the covariates were to evaluate if there is any certain timeperiod (<1 year, 1–9 years and \geq 10 years), age, socioeconomical or regional differences among women who later develop non-ovarian cancers. Most cancer occur in older age why the age groups were chosen as < 60, 60–69, and \geq 70 years of age.

Statistics

Person-year calculation was started from the first diagnosis of BOTs from 1995 onwards until a diagnosis of non-ovary cancer, death, emigration, or the end of the follow-up in 2018. Standardized incidence ratios were calculated to compare the relative risk of non-ovary cancers in BOTs and in individuals who had never been registered for BOTs. By comparing the observed number of subsequent cancers to the expected number based on population rates, the SIR provides a way to determine whether there is an increased or decreased risk of developing a subsequent cancer compared to the general population. This helps in identifying potential factors that may be associated with the development of subsequent cancers. SIR calculations are recommended and commonly used when the cancers observed are rare diseases and the expected number of cases is small. The SIR was calculated as the ratio of observed (O) to expected (E) number of non-ovary cancer by indirect standardization methods using the following formular:

$$SIR = \frac{\sum_{j=1}^{J} O_j}{\sum_{i=1}^{J} n_j \lambda_i^*} = \frac{O}{E^*}$$

where: $O = \sum O_j$ denotes the total observed number of non-ovary cancer cases in the study group (registered for BOTs); E^* is calculated by applying stratum-specific standard incidence rates (λ_j^*) obtained from the reference group (no registration for BOTs) to the stratum-specific person-year (n_j) experience of the study group; o_j represents the observed number of cases that the cohort subjects contribute to the *j*th stratum; and *J* represents the strata defined by the cross-classification of various adjustment variables, including age, educational level, and region [23, 24]. All calculations were standardized by age (5-year-age-groups), period (5-year-period-groups), highest educational level (as a proxy for socioeconomic status) and geographical region. The 95% confidence intervals (CIs) of the SIRs were calculated assuming a Poisson distribution. Concerning multiple comparisons, 99% CIs are shown in footnotes. All of the analyses were performed using SAS software v. 9.4 (SAS Institute Inc., Cary, NC, USA).

Results

The number of women with BOTs included in the analyses were 2971 women (59%) with serous and 2027 women (41%) with mucinous BOTs, i.e., in total 4998 women diagnosed during 1995–2018 with a mean age of 55.7 years (SD 16.0) at diagnosis. Non-ovarian cancers were found in 526 524 women in the entire female population until 2018 (Supplementary Table S1).

Subsequent risk of non-ovarian cancer in women with BOTs

Table 1 shows SIRs of non-ovarian cancer sites in all women with serous or mucinous BOTs. The stricter 99% confidence interval, shown in the footnotes, had minor effects on the results. Compared with rates in the general female population, women with BOTs had increased rates of small intestine, colon, endometrial, pancreatic, cervical, lung, kidney, upper aerodigestive tract, bladder, and rectal cancer as well as primary unknown cancer. Women with serous BOTs also had increased rates of both vulvovaginal and thyroid gland cancer. Table S3 shows the risk of cancer after 1 year of follow-up, excluding the first year as a wash-out period. In this analysis women with either histological subgroup (serous and mucinos) BOTs had increased rates of pancreatic, lung and primary unknown cancers.

Subsequent risks of cancers according to age at diagnosis in women with earlier diagnosis of BOT

Table 2 shows SIRs of non-ovarian cancer sites in all women with serous or mucinous BOTs according to age. Compared with rates in the general female population, women with BOTs who were younger than 60 years of age had increased rates of colon, rectum, lung, endometrium, vulvovaginal and primary unknown cancer. In the age group 60-69 years the risk for upper aerodigestive tract, colon, rectum, pancreas, breast, cervix, endometrium, kidney, melanoma, and primary unknown cancer were increased. In women in the age group 70 years or above the risks were increased for cancer in the upper aerodigestive tract, small intenstine, colon, liver, pancreas, lung, cervix, and kidney. The Supplementary Table S4 shows the SIRs of non-ovarian cancer sites according to age excluding the first year as a wash-out period. The exclusion of the first year after the diagnosis of BOTs showed in women younger than 60 years of age increased risks for lung, vulvovaginal cancer and cancer of primary unknown location. In the age group 60-69 years the risks

Cancer	IDC-7 codes	Total number	Serou	S				Mucir	snoi				All				
		of events	0	ш	SIR	95% CI		0	ш	SIR	95% CI		0	ш	SIR	95% CI	
Upper aerodigestive tract	a	7 295	~	3.47	2.02	0.80	4.18	9	2.35	2.55	0.92	5.59	13	5.82	2.23	1.18	3.83
Stomach	151	8 103	9	3.04	1.97	0.71	4.32	2	2.23	06.0	0.08	3.30	8	5.26	1.52	0.65	3.01
Small intestine	152	2 272	5	1.07	4.67	1.47	10.99	4	0.74	5.41	1.41	13.98	6	1.81	4.97	2.25	9.48
Colon	153	41 720	52	18.92	2.75	2.05	3.61	29	13.24	2.19	1.47	3.15	81	32.2	2.52	2.00	3.13
Rectum	154	17 450	13	7.71	1.69	0.89	2.89	6	5.42	1.66	0.75	3.17	22	13.1	1.68	1.05	2.54
Liver	155,156	10 183	7	4.41	1.59	0.63	3.29	9	3.13	1.92	0.69	4.20	13	7.54	1.72	0.91	2.96
Pancreas	157	11 593	;;	5.67	1.94	0.96	3.48	1	3.9	2.82	1.40	5.06	22	9.58	2.30	1.44	3.48
Lung	162,163	36 128	28	19.44	1.44	0.96	2.08	31	13.18	2.35	1.60	3.34	59	32.6	1.81	1.38	2.33
Breast	170	152 517	75	68.87	1.09	0.86	1.37	59	46.24	1.28	0.97	1.65	134	115	1.16	0.98	1.38
Cervix	171	11 014	ø	3.42	2.34	1.00	4.63	7	2.56	2.73	1.08	5.67	15	5.98	2.51	1.40	4.15
Endometrium	172,174	31 922	43	14.76	2.91	2.11	3.93	18	10.21	1.76	1.04	2.79	61	25	2.44	1.87	3.14
Vulvovaginal cancer	176	4 823	9	2.11	2.84	1.02	6.23	, -	1.48	0.68	0.00	3.87	7	3.59	1.95	0.77	4.04
Kidney	180	9 538	6	4.32	2.08	0.94	3.97	œ	3.01	2.66	1.14	5.26	17	7.33	2.32	1.35	3.72
Bladder	181	13 633	10	6.35	1.57	0.75	2.91	6	4.41	2.04	0.93	3.89	19	10.8	1.77	1.06	2.76
Melanoma	190	27 427	14	12.31	1.14	0.62	1.91	10	8.27	1.21	0.58	2.23	24	20.6	1.17	0.75	1.74
Skin	191	31 693	23	15.27	1.51	0.95	2.26	9	10.38	0.58	0.21	1.27	29	25.7	1.13	0.76	1.62
Nervous system	193	16 798	10	6.54	1.53	0.73	2.82	9	4.46	1.35	0.48	2.95	16	11	1.45	0.83	2.37
Thyroid gland	194	6 534	7	2.27	3.08	1.22	6.39	-	1.57	0.64	0.00	3.65	œ	3.84	2.08	0.89	4.13
Endocrine gland	195	13 228	∞	5.11	1.57	0.67	3.10	4	3.5	1.14	0.30	2.96	12	8.61	1.39	0.72	2.44
Connective tissue	197	3 01 3	m	1.1	2.73	0.51	8.07	2	0.79	2.53	0.24	9.31	2	1.89	2.65	0.83	6.22
Primary unknown	199	18 040	16	6.89	2.32	1.32	3.78	13	5.09	2.55	1.35	4.38	29	12	2.42	1.62	3.48
Non-Hodgkins lymphoma	200,202	16 123	∞	7.07	1.13	0.48	2.24	00	4.92	1.63	0.69	3.22	16	12	1.33	0.76	2.17
Leukemia	q	17 987	[]	7.69	1.43	0.71	2.57	5	5.3	0.94	0.30	2.22	16	13	1.23	0.70	2.00
AII		526 524	392	235.24	1.67	1.51	1.84	259	161.53	1.60	1.41	1.81	651	397	1.64	1.52	1.77
Bold types: 95% CI does not inc	clude 1.00			-				-		-		:	:		1		á

99% Cl for significant SIRs: serous, colon (1.77–4.00); endometrium (1.79–4.39); and all (1.44–1.92); Mucinous, colon (1.19–3.59); lung (1.31–3.80); and all (1.33–1.91); All, small intestine (1.38–11.60); pancreas (1.12–4.03); colon (1.79–3.41); lung (1.20–2.58); cervix (1.01–4.91); endometrium (1.64–3.46); kidney (1.00–4.37); primary unknown (1.31–3.97), and all (1.46–1.83)

O Observed, E Expected, *SIR* Standardized incidence ratio, *CI* Confidence intervals ^a 140, 141, 143, 144, 145, 146, 147, 148, 161

^b 204, 205, 207, 208, 209

-)))										
Cancer	IDC-7 codes	Total number	<60					69-09					≥ 70				
		or events	0	ш	SIR	95% CI		0	ш	SIR	95% CI		0	ш	SIR	95% CI	
Upper aerodigestive tract	a	7 295	0	1.25				9	1.92	3.13	1.12	6.85	7	2.64	2.65	1.05	5.49
Stomach	151	8 103		0.76	1.32	0.00	7.54	2	1.33	1.50	0.14	5.53	5	3.18	1.57	0.50	3.70
Small intestine	152	2 272	2	0.32	6.25	0.59	22.99	2	0.55	3.64	0.34	13.37	5	0.94	5.32	1.68	12.51
Colon	153	41 720	19	3.48	5.46	3.28	8.54	25	8.11	3.08	1.99	4.56	37	20.57	1.80	1.27	2.48
Rectum	154	17 450	9	2.06	2.91	1.05	6.38	6	3.97	2.27	1.03	4.32	7	7.11	0.98	0.39	2.04
Liver	155, 156	10 183	Ś	0.92	3.26	0.61	9.65	2	2.2	0.91	0.09	3.34	8	4.41	1.81	0.77	3.59
Pancreas	157	11 593	2	1.09	1.83	0.17	6.75	6	3.06	2.94	1.33	5.61	=	5.42	2.03	1.01	3.64
Lung	162, 163	36 128	14	4.37	3.20	1.75	5.39	17	11.94	1.42	0.83	2.28	28	16.32	1.72	1.14	2.48
Breast	170	152 517	34	34.46	0.99	0.68	1.38	60	40.45	1.48	1.13	1.91	40	40.19	1.00	0.71	1.36
Cervix	171	11 014	7	3.07	2.28	06.0	4.72	5	1.24	4.03	1.27	9.48	m	1.67	1.80	0.34	5.32
Endometrium	172, 174	31 922	20	4.26	4.69	2.86	7.26	17	8.71	1.95	1.13	3.13	24	12	2.00	1.28	2.98
Vulvovaginal cancer	176	4 823	S.	0.55	9.09	2.87	21.38	-	0.87	1.15	0.00	6.59	-	2.16	0.46	0.00	2.65
Kidney	180	9 538	2	1.23	1.63	0.15	5.98	8	2.37	3.38	1.44	6.68	7	3.72	1.88	0.75	3.90
Bladder	181	13 633	4	1.13	3.54	0.92	9.15	2	m	0.67	0.06	2.45	13	6.63	1.96	1.04	3.36
Melanoma	190	27 427	2	7.01	0.71	0.23	1.68	13	5.84	2.23	1.18	3.82	9	7.75	0.77	0.28	1.70
Skin	191	31 693	, -	1.72	0.58	0.00	3.33	4	4.54	0.88	0.23	2.28	24	19.38	1.24	0.79	1.85
Nervous system	193	16 798	9	3.93	1.53	0.55	3.35	m	3.73	0.80	0.15	2.38	7	3.34	2.10	0.83	4.34
Thyroid gland	194	6 534	4	1.83	2.19	0.57	5.65	-	0.91	1.10	0.00	6.30	m	1.1	2.73	0.51	8.07
Endocrine gland	195	13 228	2	3.07	1.63	0.51	3.83	S	2.81	1.78	0.56	4.19	2	2.73	0.73	0.07	2.69
Connective tissue	197	3 01 3	-	0.47	2.13	0.00	12.20	-	0.55	1.82	0.00	10.42	m	0.87	3.45	0.65	10.21
Primary unknown	199	18 040	10	1.55	6.45	3.07	11.91	00	3.07	2.61	1.11	5.16	11	7.36	1.49	0.74	2.68
Non-Hodgkins lymphoma	200, 202	16 123	4	1.97	2.03	0.53	5.25	2	3.47	1.44	0.45	3.39	7	6.55	1.07	0.42	2.21
Leukemia	q	17 987	4	2.03	1.97	0.51	5.10	4	3.54	1.13	0.29	2.92	~	7.42	1.08	0.46	2.13
All		526 524	163	84.95	1.92	1.64	2.24	214	121.91	1.76	1.53	2.01	274	189.91	1.44	1.28	1.62
Bold types: 95% CI does not inc	clude 1.00																
99% CI for significant SIRs: < 60	years, colon (2.48–9	9.98); endometrium	(2.19–8.	46); vulvov	aginal car	icer (2.19–	27.22); prii	nary unkı	-96-1) nwor	14.47); an	d all (1.52	-2.38); 60-	69 years,	colon (1.58	-5.24); and	all (1.43–	

Table 2 Subsequent risks of cancers according to age at diagnosis in women with earlier diagnosis of borderline ovarian tumor (BOT), 1995–2018, sorted by coding system

ž 2 a unkr .22); primary 17-6 Ŀ. cancer a 99% Cl for significant SIRs: < 60 years, colon (2.48–9.98); endometrium (2.19–8.46); vulvovagir 2.12);270 years, colon (1.06–2.80); endometrium (1.01–3.43); and all (1.21–1.71)

O Observed, E Expected, *SIR* Standardized incidence ratio, *CI* Confidence intervals ^a 140, 141, 143, 144, 145, 146, 147, 148, 161

^b 204, 205, 207, 208, 209

were increased for colon, lung cancer and melanoma. In the age group 70 years or above the risks for cancer were increased in the small intestine and lung.

Subsequent risk of non-ovarian cancer according to length of follow-up

Table 3 shows the risk of the non-ovarian cancer sites according to length of follow-up for women with serous or mucinous BOTs. Within the first year of the diagnosis of BOT increased risks were found for cancer in the upper aerodigestive tract, colon, rectum, small intestine, breast, pancreas, nervous system, bladder, kidney, liver, endometrium, cervix, vulvavagina, and non-Hodgkin lymphoma. The SIRs \geq 10 years after BOT diagnosis were increased for lung cancer.

Discussion

In this nationwide study we identified 4998 women with BOTs 1995–2018. These women were found to be at increased risks of lung and pancreas cancer more than 1 year after diagnosis of BOT compared to women in the general population. BOTs were also associated with increased risks of several other cancer types when BOT and the cancers were diagnosed within the same year or later such as colon, rectum, small intestine, cervical, endometrial, kidney, bladder cancer, and cancer of primary unknown origin.

We found a two-fold increase in the risk for lung cancer in women with mucinous BOTs. This was observed in all age groups and in follow up periods between 1-9 years and more than 10 years. This is in line with a similar large Danish population-based register study evaluating the associated cancer risks with earlier BOTs [14]. A smaller study has also reported a slightly increased relative risk of lung cancer in women with earlier BOTs [12]. Several studies have shown an association between smoking and the risk of mucinous ovarian tumors [25, 26]. Additionally, smoking is a risk factor for pancreatic cancer, and we found an increased risk for pancreatic cancer in the group of women older than 60 years [27]. Pancreatic carcinogenesis is influenced by various risk factors, including smoking, obesity, gene mutations. However, without access to detailed data on lifestyle habits, only assumptions about the influence of these risk factors on pancreatic carcinogenesis and BOTs can be made [28]. This study provides additional evidence to substantiate our assertions that pancreatic cancer and BOTs share common risk factors. The risk of pancreatic cancer at the time of BOTs diagnosis and within the initial 1-9 years following BOTs is more than doubled, particularly in cases of mucinous BOTs. The association between mucinous BOTs and lung and pancreatic cancer may be due to similar genetic mutations which has been found for BOTs and ovarian cancer of mucinous histology [29] as well as for lung and pancreatic cancer [26].

We found higher risks of colon and small intestine cancer in women with both serous and mucinous BOTs within the first year of BOT diagnosis. Previous studies have also shown a higher risk of colorectal cancer in women with BOTs [14]. Colorectal cancer has been reported to be more common subsequent to ovarian cancer [9-13]. This has been explained by shared genetics, such as in Lynch syndrome. Lynch syndrome is a condition that increases the risk of many kinds of cancer, affecting one in 300 individuals [30]. Risk might include colon, endometrial and other types of cancer [30, 31]. Our register-based study included a large population, and patients with BOTs were closely monitored over time. The association between mucinous BOTs and pancreatic cancer may partly be explained by the heredity of the Lynch syndrome which is associated with both epithelial ovarian cancer, endometrial, as well as colorectal cancer [32]. Pre-disposition for KRAS and BRAF genetic mutations has been suggested as a possible explanation for the previous findings of increased relative risks of colorectal cancer after BOTs [33]. RAS genes (KRAS, HRAS and NRAS) comprise the most frequently mutated oncogene family in human cancer.

Endometrial and cervical cancer rates were increased within the first year of BOTs diagnosis. Treatment of both endometrial and cervical cancer and/or ovarian cysts with suspicion of BOTs or ovarian malignancy includes hysterectomy and bilateral salpingo-oophorecomy, during which synchronous tumor may be diagnosed incidentally. Moreover, when detailed pathological analysis of the uterus including cervix as well as one or both ovaries has been performed simultaneously existing cancers may be revealed. This may be the case for the increased risk for cervical cancer and borderline ovarian tumors since cervical cancer in more than 99% of cases is due to human papilloma virus (HPV) infections [34]. Endometrial cancer with Lynch syndrome, especially with the MSH2 gene, have shown to have an association with BOT [35].

We found an association between serous BOTs and increased risk for thyroid gland cancer in the total material similarly to the Danish study. Hormonal risk factors and obesity [36], which is a risk factor for both thyroid gland cancer [37] and serous BOTs [38], may contribute to this association. Both serous BOTs [39] and a subset of thyroid gland cancers [40] are associated with BRAF mutations; thus, there is a possibility that women with serous BOTs who subsequently develop thyroid gland cancer may have BRAF mutations.

Our study did not observe increased rates of subsequent breast cancer. This could be explained by the fact that there are other pathways and genetic mutations in

018,	
95-2	
s, 19	
inosi	
diag	
ncer	
an ca	
variā	
o-uoi	
nd r	
osis a	
iagno	
OT d	
en B	
etwe	
ne b	
to tir	
ding	
ccord	
DT) a	
or (B(
tum	
arian	
le ov	
derlir	
bord	
sis of	
agno	
th di	
in wi	
vome	
s in v	_
ncer:	'stem
of ca	ng sy
Risks	codi.
e 3	id by
Tabl	sorte

Cancer	IDC-7 codes	Total number	Follow	-up (yea	rs)												
			<1 yea	-				1–9 ye	ears				≥ 10 ye	ears			
			0	ш	SIR	95% CI		0	ш	SIR	95% CI		0	ш	SIR	95% CI	
Stomach	151	8 103	2	0.27	7.41	0.70	27.24	4	3.36	1.19	0.31	3.08	2	1.63	1.23	0.12	4.51
Small intestine	152	2 272	4	0.09	44.44	11.56	114.92	4	1.1	3.64	0.95	9.40		0.62	1.61	0.00	9.25
Colon	153	41 720	39	1.45	26.90	19.12	36.80	25	19.32	1.29	0.84	1.91	17	11.38	1.49	0.87	2.40
Rectum	154	17 450	1	0.63	17.46	8.67	31.35	00	8.12	0.99	0.42	1.95	m	4.38	0.68	0.13	2.03
Liver	155,156	10 183	с	0.37	8.11	1.53	24.00	œ	4.6	1.74	0.74	3.44	2	2.57	0.78	0.07	2.86
Pancreas	157	11 593	Ω	0.44	11.36	3.59	26.73	12	5.69	2.11	1.08	3.70	5	3.45	1.45	0.46	3.41
Lung	162,163	36 128	4	1.46	2.74	0.71	7.08	34	19.34	1.76	1.22	2.46	21	11.82	1.78	1.10	2.72
Breast	170	152 517	19	5.7	3.33	2.00	5.22	76	71.67	1.06	0.84	1.33	39	37.74	1.03	0.73	1.41
Cervix	171	11 014	10	0.34	29.41	14.01	54.30	5	3.93	1.27	0.40	2.99	0	1.71			
Endometrium	172,174	31 922	57	1.22	46.72	35.38	60.56	2	15.45	0.13	0.01	0.48	2	8.29	0.24	0.02	0.89
Vulvovaginal cancer	176	4 823	m	0.16	18.75	3.53	55.50	4	2.16	1.85	0.48	4.79	0	1.27			
Kidney	180	9 538	7	0.36	19.44	1.7.1	40.29	7	4.48	1.56	0.62	3.24	c	2.49	1.20	0.23	3.57
Bladder	181	13 633	5	0.49	10.20	3.22	24.00	6	6.43	1.40	0.63	2.67	2	3.84	1.30	0.41	3.06
Melanoma	190	27 427	2	0.95	2.11	0.20	7.74	10	12.37	0.81	0.38	1.49	12	7.27	1.65	0.85	2.89
Skin	191	31 693	0	0.95				13	14.36	0.91	0.48	1.55	16	10.34	1.55	0.88	2.52
Nervous system	193	16 798	5	0.58	8.62	2.72	20.28	9	6.94	0.86	0.31	1.89	2	3.49	1.43	0.45	3.37
Thyroid gland	194	6 534	2	0.2	10.00	0.94	36.78	m	2.41	1.24	0.23	3.68	m	1.23	2.44	0.46	7.22
Endocrine gland	195	13 228	2	0.46	4.35	0.41	15.99	9	5.46	1.10	0.40	2.41	4	2.69	1.49	0.39	3.85
Primary unknown	199	18 040	9	0.62	9.68	3.48	21.20	19	7.73	2.46	1.48	3.85	4	3.64	1.10	0.29	2.84
Non-Hodgkins lymphoma	200,202	16 123	5	0.56	8.93	2.82	21.00	œ	7.31	1.09	0.47	2.17	с	4.11	0.73	0.14	2.16
Leukemia	a	17 987	<i>—</i>	0.6	1.67	0.00	9.55	œ	7.84	1.02	0.44	2.02	7	4.55	1.54	0.61	3.19
All		526 524	202	18.84	10.72	9.29	12.31	285	242.42	1.18	1.04	1.32	164	135.51	1.21	1.03	1.41
Bold types: 95% CI does not incl	ude 1.00																

99% Cl for significant SlRs: <1 year, small intestine (3.74–148.52); pancreas (1.51–34.03); colon (16.06–41.36); rectum (5.71–37.86); breast (1.52–6.09); cervix (8.93–65.99); endometrium (30.80–66.92); kidney (4.17–50.14); bladder (1.36–30.56); nervous system (1.15–25.82); primary unknown (1.71–26.66); non-Hodgkins lymphoma (1.19–26.74); and all (8.69–13.03). 1–9 years, lung (1.01–2.78) and primary unknown (1.12–4.49) O Observed, E Expected, SIR Standardized incidence ratio, Cl Confidence intervals

^a 204, 205, 207, 208, 209

breast cancer. This is in contrast to the BRCA gene mutation found in both ovarian and breast cancer [41–44], but there is no found association between BRCA mutations and BOTs. Neither did we find any association between BOTs and myeloid leukemia or malignant melanoma in contrast to our Danish colleagues [14].

Strengths and limitations

Some of the strengths in this population cohort study is the large number of patients included as well as the complete Swedish Cancer Register [19]. The Danish cohort population study was performed in a similar way showing similar results [14], whereas earlier studies [11, 12] have been much smaller with fewer cases of BOTs. All the major results in this study were based on more than ten observations, the confidence intervals reasonably small and 99% CI were added minimizing the risk of incorrect results of multiple testing and comparisons. Moreover, due to accurate linkage between Swedish registries by use of the unique personal identification number, we had minimal loss of follow-up as well as no recall bias due to the use of clinical diagnoses. Women with borderline ovarian tumors were previously followed-up for several years, which is why there may be a risk for increased numbers of cancers found due to surveillance bias especially during the first years after diagnosis with complimentary diagnostic procedures. Compared with earlier studies we also included confounding factors such as socioeconomic status [16]. However, we cannot fully rule out the risk of residual confounding as certain possible confounders, e.g. obesity or smoking [45-47], were not included. Additionally, the classification of borderline ovarian cancer and tumors has been modified in 2014 [40] and we do not have information about the stage of the BOTs. Therefore, some of the included BOTs with invasive implants in our cohort study may have been classified as low-grade serous carcinoma and this may have affected the results. However, since low-grade ovarian cancer is rare, the probability of this is likely minimal.

Conclusion

This nationwide population-based study found higher risks of lung and pancreas cancer more than 1 year after diagnosis of BOTs compared to women in the general population. BOTs were also associated with colon, small intestine, cervical, endometrial, and kidney cancer, and cancer of primary unknown origin. These findings could be important for cancer prevention and follow-up in women diagnosed with BOTs. Further studies on the specific causal mechanisms with a specific focus on similar gene mutations behind these associations are needed.

Abbreviations

BOT	Borderline ovarian tumor
SNOMED	Systematized Nomenclature of Medicine
WHO	World Health Organization
CD	International Classification of Diseases
CD-7	International Classification of Diseases 7 th revision
SIR	Standardized incidence ratio
CI	Confidence interval
HNPCC	Hereditary nonpolyposis colorectal cancer

Supplementary Information

The online version contains supplementary material available at https://doi. org/10.1186/s12885-023-11453-6.

Additional file 1: Table S1. Number of cases of cancer (non-ovary cancer) in women in Sweden, 1995-2018. Table S2. Study population and Number of cases of cancer (non-ovary cancer) in women in Sweden, 1995-2018. Table S3. Subsequent risks of cancers in women with earlier diagnosis of borderline ovarian tumor (BOT), 1995-2018, after 1 year follow-up. Table S4. Subsequent risks of cancers by age at diagnosis in women with earlier diagnosis of borderline ovarian tumor (BOT), 1995-2018, after 1 year follow-up.

Acknowledgements

The authors thank Rebecca Nelsson for language edits.

Authors' contributions

All authors have approved the final version of the manuscript. Concept: AD and CB. Development of idea: All authors. Design: AD, CB, and XL. Critical revision and approval of design: XL, FJ, KS, and CB. Funding and resources: FJ and KS. Access and acquisition of data: KS. Analysis and statistics: XL. Tables: XL, AD, and CB. Interpretation of data: All authors. Literature search: AD and CB. Drafting of manuscript: AD and CB. Critical revision of the manuscript for intellectual content: All authors. All authors attest that all listed authors meet the authorship criteria and that no others meeting the criteria have been omitted.

Funding

Open access funding provided by Lund University. This work was supported by non-commercial research grants, i.e., governmental funding granted to Filip Jansåker (Alf-YF funding) and Kristina Sundquist (Alf-project) for clinical research within the Swedish National Health Services, Region Skåne (Sweden). The funding sources had no role in the study design; the collection, analysis, and interpretation of data; the writing of the report; or in the decision to submit the paper for publication.

Availability of data and materials

This study made use of several national registers and, owing to legal concerns, data cannot be made openly available. Further information regarding the health registries is available from the Swedish National Board of Health and Welfare (https://www.socialstyrelsen.se/en/statistics-and-data/registers/) and Statistics Sweden (https://www.scb.se/en/). The code used in the analysis can be provided upon reasonable request directed to Kristina Sundquist.

Declarations

Ethics approval and consent to participate

All data were obtained according to the Swedish Act concerning the Ethical Review of Research Involving Humans to ensure confidentiality and are available on reasonable request. The study was a non-intervention nationwide register study of pseudonymized secondary data obtained from Swedish authorities after approval from the Ethical Review Board in Lund, Sweden (2012/795 and later amendments).

Consent for publication

Not Applicable.

Competing interests

The authors declare no competing interests.

Author details

 ¹Department of Obstetrics and Gynaecology, Skåne University Hospital, Klinikgatan 12, Lund 221 85, Sweden. ²Department of Clinical Science Lund, Lund University, Lund, Sweden. ³Center for Primary Health Care Research, Department of Clinical Sciences Malmö, Lund University, Lund, Sweden.
⁴Department of Clinical Microbiology, Rigshospitalet, Copenhagen, Denmark.
⁵Center for Community-Based Healthcare Research and Education (CoHRE), Department of Functional Pathology, School of Medicine, Shimane University, Matsue, Japan. ⁶Department of Family Medicine and Community Health, Icahn School of Medicine at Mount Sinai, New York, USA. ⁷Department of Population Health Science and Policy, Icahn School of Medicine at Mount Sinai, New York, USA.

Received: 8 April 2023 Accepted: 26 September 2023 Published online: 09 October 2023

References

- 1. Kurman RJ, Shih IM. The dualistic model of ovarian carcinogenesis: revisited, revised, and expanded. Am J Pathol. 2016;186(4):733–47.
- Baandrup L, Faber MT, Aalborg GL, Kjaer SK. Borderline ovarian tumors in Denmark 1997–2018: time trends in incidence by histology, age and educational level. Acta Obstet Gynecol Scand. 2021;100(3):436–43.
- Kurman RJ. WHO classification of tumours of female reproductive organs. Lyon: International Agency for Research on Cancer; 2014.
- Prat J. Pathology of borderline and invasive cancers. Best Pract Res Clin Obstet Gynaecol. 2017;41:15–30.
- Colombo N, Sessa C, du Bois A, Ledermann J, McCluggage WG, McNeish I, et al. ESMO-ESGO consensus conference recommendations on ovarian cancer: pathology and molecular biology, early and advanced stages, borderline tumours and recurrent disease†. Ann Oncol. 2019;30(5):672–705.
- Kalapotharakos G, Högberg T, Bergfeldt K, Borgfeldt C. Long-term survival in women with borderline ovarian tumors: a population-based survey of borderline ovarian tumors in Sweden 1960–2007. Acta Obstet Gynecol Scand. 2016;95(4):473–9.
- van Niekerk CC, Vooijs GP, Bulten J, van Dijck JA, Verbeek AL. Increased risk of concurrent primary malignancies in patients diagnosed with a primary malignant epithelial ovarian tumor. Mod Pathol. 2007;20(3):384–8.
- 8. Hung YP, Liu CJ, Hu YW, Chen MH, Li CP, Yeh CM, et al. Secondary primary malignancy risk in patients with ovarian cancer in Taiwan: a nationwide population-based study. Medicine (Baltimore). 2015;94(38):e1626.
- Yang Z, Liu X, Yang X, Liao QP. Second primary malignancies after ovarian cancer: a SEER-based analysis (1975–2016). Taiwan J Obstet Gynecol. 2022;61(1):80–5.
- Hunter MI, Ziogas A, Flores F, Brewster WR. Epithelial ovarian cancer and low malignant potential (LMP) tumors associated with a lower incidence of second primary breast cancer. Am J Clin Oncol. 2007;30(1):1–7.
- Bouchardy C, Fernandez S, Merglen A, Usel M, Fioretta G, Rapiti E, et al. Increased risk of second cancer among patients with ovarian borderline tumors. Gynecol Oncol. 2008;109(2):210–4.
- Levi F, Randimbison L, Blanc-Moya R, La Vecchia C. Second neoplasms after invasive and borderline ovarian cancer. Eur J Cancer Prev. 2009;18(3):216–9.
- Sanci M, Gultekin E, Cingillioglu B, Gultekin OE, Ozvural S, Emirdar V, et al. Second primary cancers following borderline ovarian tumors. Arch Gynecol Obstet. 2011;283(6):1391–6.
- Hannibal CG, Baandrup L, Hertzum-Larsen R, Vang R, Kurman RJ, Frederiksen K, et al. Risk of nonovarian cancer in a nationwide-based study of nearly 5000 women with borderline ovarian tumors in Denmark. Int J Cancer. 2023;152(7):1370–7.
- Hannibal CG, Frederiksen K, Vang R, Kurman RJ, Kjaer SK. Risk of specific types of ovarian cancer after borderline ovarian tumors in Denmark: a nationwide study. Int J Cancer. 2020;147(4):990–5.
- Hemminki K, Li X. Level of education and the risk of cancer in Sweden. Cancer Epidemiol Biomarkers Prev. 2003;12(8):796–802.
- WELFARE. TNBOHA. Statistics on cancer incidence 2021. Socialstyrelsen; 2022. Available from: https://www.socialstyrelsen.se/globalassets/share point-dokument/artikelkatalog/statistik/2022-12-8309.pdf.

- Barlow L, Westergren K, Holmberg L, Talbäck M. The completeness of the Swedish Cancer Register: a sample survey for year 1998. Acta Oncol. 2009;48(1):27–33.
- Ludvigsson JF, Almqvist C, Bonamy AK, Ljung R, Michaëlsson K, Neovius M, et al. Registers of the Swedish total population and their use in medical research. Eur J Epidemiol. 2016;31(2):125–36.
- Ludvigsson JF, Otterblad-Olausson P, Pettersson BU, Ekbom A. The Swedish personal identity number: possibilities and pitfalls in healthcare and medical research. Eur J Epidemiol. 2009;24(11):659–67.
- Socialstyrelsen. National Cancer Register. Socialstyrelsen; 2023. Available from: https://www.socialstyrelsen.se/en/statistics-and-data/registers/ national-cancer-register/.
- 22. Organization WH. International classification of diseases for oncology (ICD-O). World Health Organization; 2013. Available from: https://iris.who. int/handle/10665/96612.
- 23. Rothman KJ, Greenland S, Lash TL. Types of epidemiologic studies. Mod Epidemiol. 1998;3:95–7.
- 24. Estève J, Benhamou E, Raymond L. Statistical methods in cancer research. Volume IV. Descriptive epidemiology. IARC Sci Publ. 1994;128:1–302.
- Gram IT, Braaten T, Adami HO, Lund E, Weiderpass E. Cigarette smoking and risk of borderline and invasive epithelial ovarian cancer. Int J Cancer. 2008;122(3):647–52.
- Schneider IJC, Schmidt TP, Correa VP, Santos A, Rocha BVD, Garcia LP, et al. Tobacco-related neoplasms: survival analysis and risk of death of population data from Florianópolis, SC. Rev Saude Publica. 2022;56:16.
- 27. Yadav D, Lowenfels AB. The epidemiology of pancreatitis and pancreatic cancer. Gastroenterology. 2013;144(6):1252–61.
- Klein AP. Pancreatic cancer epidemiology: understanding the role of lifestyle and inherited risk factors. Nat Rev Gastroenterol Hepatol. 2021;18(7):493–502.
- Faber MT, Kjær SK, Dehlendorff C, Chang-Claude J, Andersen KK, Høgdall E, et al. Cigarette smoking and risk of ovarian cancer: a pooled analysis of 21 case-control studies. Cancer Causes Control. 2013;24(5):989–1004.
- Dominguez-Valentin M, Sampson JR, Seppälä TT, Ten Broeke SW, Plazzer JP, Nakken S, et al. Cancer risks by gene, age, and gender in 6350 carriers of pathogenic mismatch repair variants: findings from the Prospective Lynch Syndrome Database. Genet Med. 2020;22(1):15–25.
- Haraldsdottir S, Rafnar T, Frankel WL, Einarsdottir S, Sigurdsson A, Hampel H, et al. Comprehensive population-wide analysis of Lynch syndrome in Iceland reveals founder mutations in MSH6 and PMS2. Nat Commun. 2017;8:14755.
- Møller P, Seppälä TT, Bernstein I, Holinski-Feder E, Sala P, Gareth Evans D, et al. Cancer risk and survival in path_MMR carriers by gene and gender up to 75 years of age: a report from the Prospective Lynch Syndrome Database. Gut. 2018;67(7):1306–16.
- 33. Ji W, Xie H, Wei B, Shen H, Liu A, Gao Y, et al. Relationship between BRAF V600E gene mutation and the clinical and pathologic characteristics of papillary thyroid microcarcinoma. Int J Clin Exp Pathol. 2019;12(9):3492–9.
- Walboomers JM, Jacobs MV, Manos MM, Bosch FX, Kummer JA, Shah KV, et al. Human papillomavirus is a necessary cause of invasive cervical cancer worldwide. J Pathol. 1999;189(1):12–9.
- Park JM, Kim MK. Hereditary risk evaluation for borderline ovarian tumors based on immunohistochemistry. J Menopausal Med. 2014;20(1):14–20.
- 36. Matrone A, Ferrari F, Santini F, Elisei R. Obesity as a risk factor for thyroid cancer. Curr Opin Endocrinol Diabetes Obes. 2020;27(5):358–63.
- 37. Wang P, Lv L, Qi F, Qiu F. Increased risk of papillary thyroid cancer related to hormonal factors in women. Tumour Biol. 2015;36(7):5127–32.
- Riman T, Dickman PW, Nilsson S, Correia N, Nordlinder H, Magnusson CM, et al. Risk factors for epithelial borderline ovarian tumors: results of a Swedish case-control study. Gynecol Oncol. 2001;83(3):575–85.
- 39. Kurman RJ. Origin and molecular pathogenesis of ovarian high-grade serous carcinoma. Ann Oncol. 2013;24(Suppl 10):x16-21.
- Hauptmann S, Friedrich K, Redline R, Avril S. Ovarian borderline tumors in the 2014 WHO classification: evolving concepts and diagnostic criteria. Virchows Arch. 2017;470(2):125–42.
- Moschetta M, George A, Kaye SB, Banerjee S. BRCA somatic mutations and epigenetic BRCA modifications in serous ovarian cancer. Ann Oncol. 2016;27(8):1449–55.
- Pietragalla A, Arcieri M, Marchetti C, Scambia G, Fagotti A. Ovarian cancer predisposition beyond BRCA1 and BRCA2 genes. Int J Gynecol Cancer. 2020;30(11):1803–10.

- Stenehjem DD, Telford C, Unni SK, Bauer H, Sainski A, Deka R, et al. BRCA testing and outcomes in women with breast cancer. Breast Cancer Res Treat. 2021;186(3):839–50.
- Baretta Z, Mocellin S, Goldin E, Olopade Ol, Huo D. Effect of BRCA germline mutations on breast cancer prognosis: a systematic review and meta-analysis. Medicine (Baltimore). 2016;95(40):e4975.
- De Pergola G, Silvestris F. Obesity as a major risk factor for cancer. J Obes. 2013;2013:291546.
- Schabath MB, Cote ML. Cancer progress and priorities: lung cancer. Cancer Epidemiol Biomarkers Prev. 2019;28(10):1563–79.
- Arnold M, Abnet CC, Neale RE, Vignat J, Giovannucci EL, McGlynn KA, et al. Global burden of 5 major types of gastrointestinal cancer. Gastroenterology. 2020;159(1):335-49.e15.

Publisher's Note

Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.

Ready to submit your research? Choose BMC and benefit from:

- fast, convenient online submission
- thorough peer review by experienced researchers in your field
- rapid publication on acceptance
- support for research data, including large and complex data types
- gold Open Access which fosters wider collaboration and increased citations
- maximum visibility for your research: over 100M website views per year

At BMC, research is always in progress.

Learn more biomedcentral.com/submissions

